- I

|
|
|
REVISIONS }
ZONE | REV DESCRIPT 1ON CHABNYGED DATE RCELVAISESW APPROVED |
—--| A| ORIGINAL ISSUE  femmm e e e NR S }
|
T e NR - - \
|
|
|
DI
|
SCREW, SOCKET HEAD #8-32 UNC-2A
2 2 2 2 2 X875 CONG (VENTED) STAINLESS STEEL 34
o SCREW, SOCKET HEAD #6-32 UNC-2A -
X .75 LONG (VENTED) ‘
o SCREW, SOCKET HEAD #6-32 UNC-2A .
X .625 LONG (VENTED) }
SCREW, SOCKET HEAD #6-32 UNC-2A
S S S 0’ LoNG  (VENTED) STAINLESS STEEL 31
|
SCREW, FLAT HEAD #4-40 UNC-2A
S 2 155 | ONG  (VENTED) STAINLESS STEEL 30
SCREW, FLAT HEAD #4-40 UNC-2A
S 2 G775 | ONG  (VENTED) STAINLESS STEEL 29
SCREW, FLAT HEAD #4-40 UNC-2A
8 X .625 LONG (VENTED) STAINLESS STEEL 28
|
SCREW, FLAT HEAD #4-40 UNC-2A
S S 3 55" 0NG (VENTED) STAINLESS STEEL 27
SCREW, BUTTON HEAD #4-40 UNC-2A
1 1 1 1 1 X B2 [ONG  (VENTED) STAINLESS STEEL 26
1 1 1 1 1 LUG, SOLDER COPPER >5
24
23
C
22
1 1 1 1 1 155Y521895- 1 DETAIL, INNER TUBE 21
1 1 1 1 1 155521894 DETAIL, SIGNAL INSULATOR 20
1 1 1 1 1 155521893 DETAIL, SPACER INSULATOR 19
1 1 1 155521892 DETAIL, FACE PLATE 18
1 155521891 -9 DETAIL, ABSORBER 17 }
24 GA, SINGLE i |
CONDUCTOR, KAPTON 1 155Y521891-7 DETAIL, ABSORBER
} phpg A TED COPPER 1 155Y521891 -5 DETAIL, ABSORBER
} | 155Y521891 -3 DETAIL, ABSORBER 14
} | 155Y521891 - 1 DETAIL, ABSORBER 13 }
} 1 1 1 1 1 155Y52 1889 DETAIL, BIAS RING 12
} 1 1 1 1 1 155Y52 1888 DETAIL, BIAS RING INSULATOR 11
} 1 1 1 1 1 155521887 DETAIL, COLLECTOR INSULATOR 10
} 1 1 | 155521836 DETAIL, COLLECTOR GROOVED e }
} 1 1 155521886 DETAIL, COLLECTOR FLAT s Eﬂ }
} 1 1 1 1 | 155521897 DETAIL, UPPER MOUNTING BRACKET 7
} 1 1 1 1 1 155Y52 1904 WELDMENT HEAT EXCHANGER 6 }
} 1 155Y521883- 1 DETAIL, MAIN BODY 5 }
| _ |
| ASSEMBLY -5 1 155Y521883- 1 DETAIL, MAIN BODY 4
} SHOWN 1 155Y521883- | DETAIL, MAIN BODY 3
} 1 155Y521883- 1 DETAIL, MAIN BODY 2 }
} | 155Y521883- 1 DETAIL, MAIN BODY 1
} -9 -7 -5 -3 -1 155521882 ASSEMBLY, FARADAY CUP DEGRADER
| |
| QY RED IDENTIFY ING NO. OR DESCRIRTION SPECIF TCATTON e |
} PARTS LIST/BILL OF MATERITAL }
DRAWING LEVEL TASK CONTRACTOR L A‘ N J[ ‘ L b J[
} PRODUCT 10N LOS Alamos e himereimee oy }
\ PRELIMINARY SNS DIVISION \
| FOR INFORMATION OR REVIEW R CAD SVSTEW & VER. vt o4 PROJECT NS |
| ) ONLY. DO NOT USE FOR |
| NOTES o UNLESS OTHERWISE SPECIFIED PROCUREMENT OR FABRICATION. E%N;%BQESDE%% ?\%T??%EOBR?W?EE FOR |
| DRAWING CONTENT SUBJUECT : ‘ |
| /\ 101 ABBREVIATIONS PER ASME Y14.38-199S. TO FUTURE CHANGE. - NUMBEFCAT THE SR PROJEET OPEICE 7 , /\ |
| ; APPROVALS DATE GROUP |
‘ 102 THOROUGHLY CLEAN PARTS TO REMOVE ALL OIL, GREASE, DIRT, CHIPS, ETC. SATE  3-4-2002 DINERS 10U ARE TN TNCHES: %EEH s DTl TANK 1 THRU 5
| 201 DIMENSIONING AND TOLERANCING PER ASME Y14.5M-18994. TOLERANCES ARE: : I FARADAY CUP/DEGRADER |
| 203 SURFACE TEXTURE PER ASME B46.1-19S5. oECIWALS U AR s poe | DRAMN H. SALAZAR | 8-8-01 | Sno-3 neSEMALY ‘
| 204 ALL INSIDE CORNERS TO BE R.0O10 MAX. XXz .01 MACHINED. 5, |CHECKED f |
| 206 C'SINK ALL TAPPED HOLES 100°, TO MAJOR DIA e e " |evereering s, ELLIS | 6-0-01 | ssoa |
| s ° Y SIZE | CAGE CODE DWG NO. & CAD FILENAME REV |
} ig? gigOXEDB$i25P2§$ i??ipoggﬁ%ieTqugég zAQQVISION LETTER NS owe Ne. e Aesewmy s on T JjEen o] looryoslesge A }
l | 104050000~ 180 -8200-B882-R00 G werowes T e Bt [oeer 1o 2 l
| |
; s 7 5 3 > 1 ;




[

N L (2)

° (15)(0e) (17)
| O

|

DIRECTION

\ RaC N
FEE®
- G//\a@ olololo -

SECTION B B B

secTion A~ A

FOR INFORMATION OR REVIEW

ONLY. DO NOT USE FOR

PROCUREMENT OR FABRICATION. L os Alamos National Labaorator
NOTES ¢ UNLESS OTHERWISE SPECIFIED ?BA%%REOELEHEESUBJECT L@SAH@M@S o8 AlamoaNew Mexiao 87545

A 101 ABBREVIATIONS PER ASME Y14.38-1999. o o O A
102 THOROUGHLY CLEAN PARTS TO REMOVE ALL OIL, GREASE, DIRT, CHIPS, ETC. DATE  3-5-2002 NS
201 DIMENSIONING AND TOLERANCING PER ASME Y14.5M-1994.
203 SURFACE TEXTURE PER ASME B46.1-1995. RS CONTRAETOR
204 ALL INSIDE CORNERS TO BE R.010 MAX.
206 C'SINK ALL TAPPED HOLES 100°, TO MAJOR DIA. S —
A T e P e [ [issvszizez
, 104050000-18D-8200-B882-R0O0O [ 2/1 22,02 | sHEET 2 oF 2

S / 3




